Gate fidelity

1.0000
== Coherence limit
0.9995 -+ - ¢ I
e X(2)
0.9990 - RN A Y(R)
& \ﬂ.~~~‘\
0.9985 -+ T IS~
1.0 . \\\~
4 = A\ + Ref. s
0.9980 1G] %, P T “~odl
o8] W X(m/2)
0.9975 -~ §0_7_ ‘:::\\ LoY(R)
. . \*h
0.99701 8°°1 Wi,
n L : =
0 200 400
0.9965 A Number of Cliffords
T T T T T T T
10 15 20 25 30 35 40 45

Gate duration (ns)

50

b 1.0000
=== Coherence limit: 0.9989
3 0.9995 H ¢ Fg=0.9988+0.0002
?, 0.9990 e )
o " -—‘._I. eele ———-- 'Y )
= FEegTStete cood’ * '
8 0.9985 H
m _.? 0 + 25 T
=10a Fy=0.9988
o 099804 Eoo] L
o 0 0.8 . S 157
© 2 0.7 Ry Q 10
) S 0.6 s, 5.
> D 0.5 N
<L 0.9970 1w 0 100 200 300 400 0.9980 0.9985 0.9990 0.9995
Number of Cliffords Average gate fidelity
09965 1 1 1 1 1 1 1 1

0 1 2 3

4 5
Time (h)

6 7 8

, T35 (Us)

*
2

Ty, T

164 é T,=8.6+£0.1us
14 - T, = 3.1+0.1 us
- A T5=92+02us ++ A
NTIRG ! dhectee b petiy
81 Te4%,44%2 ++°I '-I? oo
6 -
4-
24
0 T T T T T T T

0 1 2 3 4 5 6 7

Time (h)




